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Q:2- Write short answers of any five parts. (10=5x2) -L,'[):_rfl-:,[.m,ﬂ.ﬁflliffél.ajf -2

- = . il
e el | i) te bl g tuny | )
Give the symptoms of Pneumonia. How gaseous exchange take place in plants?
3 I [ : — o
L s g S5 | B oS e | (i)
Define dialysis. Name its two types. Explain Mesophytes with examples.
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Differentiate between rod and cone. What is role of liver in homeostasis?
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What is meant by brain stem? Give the causes of Epilepsy.
Q:3- Write short answers of any five parts. (10=5x2) -L,'{):_rf:,[.m,j"ﬁflliffél.a.dy( -3
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State the four functions of bones. Give the achievements of Andreas vesalius.
te Ty e s (iv) ~E L B gk urd | (i)
How AIDS can be controlled? Write advantages of vegetative propagation
in plants.
?‘f—ﬁ}uﬁbbﬁﬂi-}z (vi) ?c“_:[,flf'::,;é_:f!_‘{} (v)
Differentiate between breeds and What is meant by parthenocarpy?
cultivars.
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State Mendel's Law of independent Whatdo you mean by true-breeding plant?
assortment.
Q:4- Write short answers of any five parts. (10=5x2) -L..{):rf:.»l..li.‘,j’zfllﬂ‘él.a.dy( -4
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Give two effects of Air pollution. Define detritivores with on example.
E 372 | v Sl Ale it iz #E s | i)
Define Fermenter. What do you mean by genetically modified
organism?
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Write down the sources of common Whatisinterferon. Give its function.
hallucinogens.
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State the contributions of Sir Alexander Differentiate between nicotineand
Flemming. caffeine.
(Section-ll) (a4 4aa)
Note: Attempt any two questions. (18=9x2) _.*_*:r..-.LLeL.:.u!f 2 ;:,d)’ oy
5- (&) Write down the symptoms and (04) J_i:f--idmu-mmrﬁ_lgﬁrﬁ'b_zf | -5

causes of Kidneys.
(B) Explainin detail the structure and

= P - . -
types of neurcn. (05) ~E o LsleFUiste s Lo (=

6- (A) Whatare ligaments and tendons? (04)

What function do they perform? bf?rgydh}&ﬁj?&fzrﬁkﬁ:;}:ﬁyﬁﬂ (-: N

(B) Describe the main parts of the (05) _ . o
male and female reproductive _E T il G (—
systems of rabbit.
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7. (A) Give effects ofland pollution. (04) _&5&'!‘_!‘&6”““{} O 7
(B) What do you mean by single-cell s e e o
protein. What are the advantages | (09) LAkt S 'f_"fl‘r'r_'ﬂ'z g (=
of producing sngle-cell protein. _upsl
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Model Paper Academic Session 2016-18
BIOLOGY 10t (Part-ll)

Secondary
(Objective)

: 18

Marks: 12

Note;-Write your Roll No. in space provided, Over-writing, Cutting, Using of lead pencil
will result in loss of marks, All questions are to be attempted.

1- __Each question has four possible answers, Tick ( ¥ ) the correctanswer.  (12)

1 | Itis a common passage for food to gesophagus and for air to larynx.

A Trachea B Larynx C Alveoli Pharynx
2 | The tube between Kidney and urinary bladder is;

A Ureter B Urethra C | Renal tubule Nephron
3 | The excretory waste of lady finger is;

A Gums B Mucilage C Resins Latex
4 | Itis the largest part of brain.

A Forebrain B| Hippocampus |C Midbrain Hindbrain
5 | Atbirth the human body has bones,

A 206 B 126 c 300 80
6 | The outer most whorl of flower is;

A Calyx B Corolla C | Androecium Gynaecium
7 | Planarria reproduces as gxually by;

A Cloning B| Binaryfission | C | Fragmentation Budding
8 | The first quantitative studies of inheritance were camied out by;

A Charles Elton Charles Darwin | C | Jean Lamark Gre gor Mendel
§ | The difference among the members of the same species are called;

A Mutations B Variations c Erglution Inheritance
10 | The rural urban population ratio in Azad Jammu and Kashmir is;

A 8211 B 8012 c 8812 8518
11 | The human gene for insulin was inserted into bacterium;

A 1980 A.D B 1982 A.D C 1975 AD 1985 A.D
12 | Drug obtained from minerals is;

A Tincture lodine B Morphine C | Tetracycline Vaccine

{The End)




